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Chemistry/A

I, Under conditions of fixed temperature and amaount of gas, Boyle®s law requires that :

L PN P

. PV =constant

HL S RiPe=N W

(A} T, 11, and Il (B) Monly
(C) I ondy (D) Tonly

1. Thetype of hybridization of cach carbon in CH,CN :
(A} sp’, sp’ (B) sp'.ap
(C) sp’, sp’ (1)) sp, 5p°

3. The correct order for ACIDITY values among the following is :
(A} CH,CH,COOH < CH,CO0H < CH.CH,COOH < C.H.COOH
(H) CH,CH.COOH < CH,CO0H < C,H,COOH < C H,CH,CO0H
(€) €H,CO0H < CH,CH,CO0H < CH,CH,COOH < CH,COOH
{0 CH,CO0H < C H.CH,.COOH < CH,COOH < CH,CH,COOH

4. The relative ease of dehvdration of alcohols follows the order
(A) Temiary > Primary > Secondary (B) Tertiary > Secondary > Primary
(C) Sevondary > Primmary > Tertiary (D Secondory > Tertiary > Primary

5. The product formed when ethanol is treated with sulphuric acid at 413K :
(A) Ethoxvethane (B) Fiheno
(C) Meathoxyethane (D) Ethanowe acid

6. The conversion of nitriles to primary amines can be achieved with the help of following

reagent :
(A) CwHCI (B) Br,/NaOH
(C) Br,/P (D) NaiHg) C.H,0H

7. Which of the following is NOT a monosaccharide 7

(A Glacose (B) Sucrose
(C} Ribose (D) Fructose
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8.  Thepolymer obtained by interaction of caprolactum with water is :

(A) Myloné {B) Bakelite
{C) Dacron (D) Gilyvptal

9.  Heroin is an example of :
(A) Antiseptics () Tranguilizers
{(C) Analgesics (1)) Antibiotics

10, The reaction between toluene and halogen proceeds in the presence of Lewis acid to furnish
halotoluenes, This is an example of :

(A} Electrophilic substitugion () Elecrophilic addition
(C) Nueleophilic addition (1) Free radical substitution

11. Thecorrect IUPAC name of the given chemical compound is @

T
Br
{A) 3.4 Dibromo-3-phenyl pentane {B) 2,3 Dibromo-1-pheny] pentane
(C) 3.4 Dibromo-1-phenyl pentane (D) 3,4 Dibromo-6-pheny] pentane

12. Dwring the estimation of halogen in Carius method, 0.8g of an organic compound gave 0,188 g
of AgBr. The percentage of bromine in the compound is :

(a) 0.1 {B) 1.0
() 10 (D) 100
13, The number of pi (x) and sigma (=) bonds in 1,3,5,7 octatetraene are :
(A) m=4:0=17 {B) n=8;:a=§
(C) m=17;0=4 D) n=8:a0=17
14. The maximum prescribed concentration (ppm} of iron in drinking water is :
(A) 0.002 By 002
iy 0.2 (e 2

15. Ozoneis presentin :

(A) Exosphere () Stratosphere
{C) Troposphere (D) Thermosphere
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3.

4.
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Sodium salt of which acid will be needed for the preparation of propane ?
(A} Proponicacid (B) Butanoic acid

{C) Hexanoic acid (D} Pentanoic acid

HBr added to propene gives :

(A) 1-Bromopropane (B} 2-Bromopropang
(€) 1, 1-dibromopropane (D} 1,3-dibromopropane

Which of the following substituent groups give - R effect 7

(A) OH (B) NI,
(C) COOH (D) NHR

The exidation number of carbon in C,0, is:

(A) 2 (By 43

(C) 34 D) 4

The correct arder for decreasing reducing strength among the following is :
(A) LizNa=Aeg=Cl' =1 B) I'=Cl >Na>Ag>I[i
(C) I'>Na=Ag>Cl™>Li (D) LizNa=TI=Ag>Cl

Dihydrogen is reduced by sodivm to form :
(A) Nali, (B) NaH
(C) NaH (D) NaH.

The strength of 100 volume solution of hydrogen peroxide is :
(A) 3% (B) 30%
(C) 300% Dy 0.3%

The energy released per mole (in kJ) on combustion would be highest for :
(A) LPG (B} Dihydrogen
(C) CH, (I Octane

The radioactive isotope ol water Is :

(A) Deutenum (B)  Protium
{C) Trithsm (M Deutrivm and Protium
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25. The correct order for decrease in ionic sizes among the following is
(Al Li'>Na'>K'> Rh'>Cs’ B) Cs">Rb'> K'>Na'>Li"
(C) Li'>K'>Rb*'> Nag° =Cs’ (D). Cs*>K"=>Rb'>Na > L1

26. Ingroup 14, the most acidic dioxide is formed by :
(A) Lead (B) Silicon
{C) Carban (D) Germanium

27. The correct order of catenation is :

(A) C>=8i>0GeaSn (B) C»>8i>0Ge>8n

(C) Siz>Ge=8n>>C (I Ge=S8n>>C>8i
28, B(OH),is :

{A} Tetra basic acid (B) Tnbasic acid

(C) Diibasic acid (1) Monobasicacid

29, In the transitions of the electron in hydrogen atom, Lyman series belong to which spectral

region T
(A) Infrared (B} Visible
{C) Ultra vinlet {1 Farinfrared

30. The mass of photon of 3.6 A wavelength is :
{A) 6315 = 10% kp (B) 3157 =10 kg
(C) 6315%10% D) 3.157 % 10" gm

31. The uncertainty principle was given by ;

(A) Bohr (B) E.Schrodinger
(C) W.Heinsenberg (1) Rutherford

32. Which of the following is correct 7

[.I"fl-} I1=[i_-f=ﬂ, m, = |:].| m.=+|.|'§ {E:' ns |=!:'=|:.:|1 ml=ﬂ“m|=_!"5
(© n=1,0=1,m =0, m=+% ©) n=3.6=3,m,=-3,m=+%

33, Which of the following oxidation states is most eommon for all lanthanides 7
(A) +4 (By +3
(Ch +2 (D) +1
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The most negative electron gain enthalpy among the following is of :

(A) P (1) S8
(C)y CI (M F
35 . Thecovalency of Alin [AICKH,0),]* is:
(A) 5 (B 2
(C)y 6 () 3
M. The correct geometry for BF, s :
(A} Trgonal pyramidal (B Trigonal planur
(€C) Tetrahedral i) Bent
37. The correct hybridization of 5F is :
(A) sp By spid
(Cy sp’d (D) spid?
38. The bond orderof C, is:
(A) 1 B) 2
£l 3 D) 4
39, Which of the following is paramagnetic 7
(A) H B} C,
(C) L ) 0,
4#). The enthalpies of all elements in their standard states are ;
(A} Unity {B) <0
(C) Different for each element (M Zero
41. The value of K_for the reaction: 24=8+Cis 2 x 10-%. Ata given time the concentration of
reaction mixture is f4 /=B =fCj= 3= 1{i-* M. In which direction the reaction will proceed 7
(A) Forward direction (B Reverse direction
(C) Steady state (D Static equiliboum
41. A Bronsted-Lowry base is defined as o substance that :

Chemistry/BIL-862-A

(A) actsasaproton donor (B increases {H+] when placed in water
() actsasaproton acceptor () decreases |H+| when placed i water
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47

45.

49,

The pH of a 1.0 = 10-* M solution of HCL:

{A) 8 (B) A

() 6.08 Dy 7.02
The packing efficiency in Cabic Close Packing structure is :
(A) Td4% () 68%
{C) 52.4% () 45.2%

Raoult's Law describes :

(A} Howthe partial pressure of a solvent vapor varics with solute moleeular mass
{BY How the partial pressure of solvent vapor varies with solute concentration
{C) How the partial pressure of a gas varies with temperature

(D) Howw the solubility of & gas varies with pressure

2Myem? of an aqueons solution of 2 protein contains 1.26 g of the protein. The osmotic pressure
of such a solution at 27°C is found to be 2,57 = 10-° bar, The molar mass of the protein is ;

{A) 122,078 g mal™ (B) 1.00.786 ¢ mal
{C) R6,437 gmol! {3} 61.022gmol!

The units of specific conductance are :
(A} ohm! (B ohm' cm?
(C) ohm™ em’mol (17} ohm™ em* (g eg. )

The standard electrode potential for Daniell cell is 1.1 V. The standard Gilibs energy for the
regetion following s :
Zin{s) + Cu™* (ag) = Zo(ag) + Cu(s)
Ay 212,27kl maol! (BY =313.17kImol
(C} -142.54 kJmol? (M —=116.22 kI mol™!

If the molar conductance at infinite dilution of NaCL HCl and CH, COONa are 126.4, 425.9
and 910 8 em® mol ' respectively. The molar conductance at infinite dilution for Acetic acid
is:

{A) 390.55 cm?mol! (B) 300.98 em® mol!

{C) 290.55 ¢m® mol i) 20098 em® mol

ChemistnBJIL-862-A ‘g
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The half-life of a first order reaction Is found 1.26 10 see, The rate constant of the reaction

is ;
(A k=15 » 10" ggc? (B} k=55 |0"gpe!
(C) k=51 = 1r'*gec! M k=15 % 1r" sec!

The rate of a chemical reaction doubles for every [0°C risc of temperature, If the temperature
is raised by 50°C, the rate of the reaction inereases by about :

(A) 10times (B 24 times
{C) 32times (D 64tmes

The rate constant of a first order reaction depends on the :
{A) Time {B) Coneentration of the product
{C) Concentration of the reactant (D) Temperature

The rate constant of a reaction at 300 K and 700 K are 0,02 ' and 0.07 5! respectively.
The encrgy of activation is:

(A) 18231 kI (B) 24342 kI
() 28321 k3 (D} 31.801 kJ

In Freundlich Adsorption isotherm, the value of Un §s :
(A) Berween 2 and 4 in all cases (B Between O and | inall cases
(C) 1incase of chemisorption (DY 1 in case of physical adsorption

Which ane of the following is an example for homogenous catalysis 7
(A) Hydropenation of oil

(B) Manulacture of ammonia by Haber's process

(C) Manufacture of sulphuric acid by Contact process

(D} Hydrolysis of sucrose in presence of dilute hydrochlorie acid

Which one of the following forms micelles in aqueous solution above certain concentration ?
{A) Sodium Chlaride (B Glucose
(€} Dodecy] mimethyl ammonium chlorde {I¥ Urea

Hypochlorous acid is :
(A) HOCI (BY HOCIO
{C) HOCIO, (D} HOCID,
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55, Which ane of the following has an optical lso
(A) [Znfen)NH)T
(C) [Colen),}"

59, Mapgnetite is :
(A} Fe0,
{C) CuFeb,

60. PO isthe anhydride of :

(A) HPO,
(Cy HPO,

ChemistryBIL-862-A

mer ? (en = ethylenediamine)

B) [Col,0)En)"
(D) [Znfen),}”

(B) FeO,
D) CuC0, Cu{OH),

(B} H,PO,
D} HP,0,



